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MTH 4-20b        Assessment 3                                Gold Level 

Name:   _________________ 

Class:   _______ 

Score: ____ 

2 
Percentage: % 

Outcome 1 - Trickier mean problems 

The mean cost of three concert tickets is £74. 
Two of the tickets cost £60 and £97. 

What is the cost of the third ticket? 

The mean cost of six stamps is 78 pence. 
Three of the stamps cost 72 pence and  
two of the stamps cost £92 pence each. 

What is the cost of the sixth stamp? 

Calculate the answers to the following questions… 
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